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F=5«H, M; =140 xHwMm, My = 106 xHwm,
p=2xH/m, cosa =0,8.
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F =15 xH, My = 225 kHwm, Ms = 121.5 xHuw,
p =3 xkH/m, cosa =0,8.

3amaua S-36.3.

(MA
5
&7
e ’
5‘4‘4@5

F=5«kH, M} =131.5 xHm, Ms = 702.5 xHwm,
p =3 kH/m, cosa =0,8.
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F =10 xH, M; = 42 xHwm, My = 279 xHuw,
p=2xH/m, cosa=0,8.
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F =15 H, M; = 23 xHwm, My = 108.5 xkHwm,
p=1xH/m, cosa =0,8.
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F =15 xH, M; =89 xkHwm, My = 11 xHwm,
p=2xH/m, cosa =0,8.
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F =10 xH, M; =57 xHwm, My = 30 xHwm,
p=2xH/m, cosa =0,8.
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F =10 xH, M; = 80 xHwm, My = 340 xHuw,
p=2xH/m, cosa=0,8.
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F =15 «H, M; = 5.5 xHwm, My = 132.5 xHwm,
p=1xH/m, cosa =0,8.
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F =10 xH, M; = 87.5 kHwm, My = 23.5 xHwm,
p =3 xkH/m, cosa=0,8.
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F =15 xH, M; = 85 xkHwm, My = 36 xHwm,
p=2xH/m, cosa =0,8.
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F =15 H, M; = 305.5 kHm, My = 418 xHwm,
p=3&H/m, cosa =0,8.
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F =5 xH, M; =100 xHwm, My = 0 xHw,
p=2xH/m, cosa =0,8.
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F =15 xH, M; = 130 Hu, M = 52 xHu,
p=2xH/m, cosa=0,8.
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F =10 xH, M; =22 xHwm, My = 476 xHu,
p =3 kH/m, cosa =0,8.
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F =15 «H, M; = 83 xHwm, My = 284 xHuw,
p=2xH/m, cosa=0,8.
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F =10 xH, M; = 40.5 xHwm, My = 120 xHwm,
p=1xH/m, cosa =0,8.
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F=5«H, M; =172 xHwm, My = 337 xHuw,
p=2xH/m, cosa=0,8.
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F =5 xH, M; = 148 xHwm, My = 523 xHwm,
p =3 kH/m, cosa =0,8.
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F =5x«H, M; =90 xHwm, My = 395 xHuwm,
p=2xH/m, cosa =0,8.
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F =5«H, M; =42 xHwm, My = 320 kHwm,
p=2xH/m, cosa =0,8.
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F =10 xH, M, = 144 xHwm, My = 128 xHw,
p=3xkH/m, cosa =0,8.
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F=5«H, M} =72 xHwm, My = 175 xkHwm,
p=1xH/m, cosa =0,8.
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F =10 xH, M; = 220.5 xHu, My = 511.5 xHu,
p =3 xkH/m, cosa =0,8.
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F =10 xH, M; = 63 xHwm, My = 282 xHuwm,
p=2xH/m, cosa =0,8.
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F =15 xH, M; = 38 xHwm, My = 246 xHuw,
p=2xH/m, cosa=0,8.
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F =5x«H, M; =9.5 xHwm, My = 51.5 xHuwm,
p=1xH/m, cosa =0,8.
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F =10 xH, M; = 279.5 xHm, My = 62.5 xkHwm,
p=3&H/m, cosa =0,8.
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F =10 xH, M; = 123 kHwm, M5 = 341 xHwm,
p=2xH/m, cosa =0,8.
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F =15 xH, M, = 124 xHu, My = 12 xHu,
p=2xH/m, cosa=0,8.
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Ne Xa Ya XB | YB ZMC:O ZMBZO

1 10 —4 | =4 |55 | 3X4—4Y4 - 16 =0, X4—4Y4—-16=0

2 —11 | 11 23 61 | 5X4 +5Y4+0=0, 8XA4+8Y4+0=0

3 19 ) —13 |91 | —10X4 —4Y4 +110=0, | —=5X4 —13Y4 +110=0

4 19 —4 | =17 |52 | =X 4 —4Y, +29 =0, —9X4 —13Y4+29=0

5 |11 0 —23 |22 | =8X4—5Y4+883=0, —4X4—8Y4+44=0

6 —6 12 18 31 | 4X4+4Y, —24 =0, 8X4+5Y,—12=0

7T | -2 |4 10 38 | =6 X4 +3Y4 —22 =0, Xa+5Y4—-22=0

8 |24 14 —32 (34 | 4X4 —4Y 4 — 40 =0, 9X4 —14Y4 —20=0

9 19 ) —21 |12 | =3X4 —4Y4 +47 =0, 2X4 —13Y4+47=0

10 | 1 4 -9 | 74 | 4X4 —5Y4+16 =0, 8X4 —6Y,4+16=0

1110 ) —12 |36 | 3X4 —4Y4+20 =0, 8X4—4Y4+20=0

12 | 24 —1 —36 | 73 | b X4 —4Y4 — 124 =0, 2X4 —14Y4 —62=0

13| -7 | —-13 |11 58 | —3X4+3Y4+18=0, —8X4+5Y4+9=0

14| 2 —4 | =14 | 45 | b X4 —4Y4 —26 =0, X4—6Y4—-26=0

15| 8 4 —16 | 71 | —5X4 —4Y4 4+ 56 =0, Xa4—12Y4+56=0

16| -8 |4 20 39 | 3X4+5Y4+4=0, TXaA+13Y4+4=0

17 | 8 4 —16 | 13 | 4X4 —3Y4 — 20 =0, 8X4—11Y4 —20=0

18 | 23 12 —27 139 | 4X4 —5Y4 —32=0, 8X4—14Y4 —16=0

19 | -23 | 11 27 64 | 5X4+3Y4+82=0, 8Xa4+13Y4+41 =0

20| =25 | 13 29 40 | 3X4 +5Y4+10=0, 8X4+15Y4+5=0

21 | =23 | —12 | 27 61 | —4X4+5Y4—32=0, —8X4+14Y4 —-16=0

2210 -4 |8 70 | —4X4+3Y4+12=0, —8X4+3Y4+12=0

23 | 20 7 —24 | 14 | —=3X4 —4Y4+88 =0, 2X4—12Y4+44=0

241 -9 | -3 |17 75 | 5Xa +3Y4+ 54 =0, 2X4+12Y4+54=0

25 -8 |3 16 41 | —4X 4 +5Yy —47 =0, Xa+13Y4 —47=0

26 (-9 | -3 |21 46 | —5X4 +4Y4 —33 =0, —8X4+13Y4—-33=0

27 110 5 —14 | 17 | =3X4 —4Y4+50=0, Xa—TY4+25=0

28| 7 —2 | —=15| 83 | 4X4 —5Y4 —38=0, X4 —6Y4—-19=0

291 -9 | -4 |17 o8 | 8X4 +3Y4+84 =0, 4X4+12Y4+84=0

3010 ) 12 48 | —10X4 +4Y4 —20=0, | —5X4+4Y4—20=0
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